


ΞN =
{
ξN
1 , . . . , ξN

N

}
N ≥ 1

{ξN
1 , . . . , ξN

N } = {ξ1, . . . , ξN}

{F1, . . . , FK} P(ξj ∈
A) = Fh0

j
(A) h0 = {h0

j , j = 1, . . . , N}
h0

j ∈ {1, . . . , K} h0
j = const

kj = [θiN ] < j ≤ [θi+1N ] 0 = θ0 < θ1 < . . . < θR < θR+1 = 1
kj

h
h0 {ξ1, . . . , ξN}

Γ = {1, . . . , K}

φ(·, j):R �→ R, j ∈ Γ.

φ

HN = {(h1, ..., hN) | hj ∈ Γ, j = 1, ..., N} , H =
⋃
N

HN .

J :H �→ R
h ∈ Hn

J(h) =

n∑
i=1

(φ(ξi, hi) − πN(hi, hi−1)), πN(g, l) = πN 1g �=l,

πN > 0

ĥ = argmax
h∈HN

J(h).

h0

ĥ

k̂1 = k1(ĥ) = min
{
l | ĥl �= ĥj, 1 ≤ j < l

}
k̂i = ki(ĥ) = min

{
l | ĥl �= ĥj , ki−1(ĥ) ≤ j < l

}



i ĥ

ĥ i
g h J(h) = J(g)

ĥ

θ̄ = mini�=j |θi − θj |,
φki(x) = φ(x, k) − φ(x, i).

ĥ

gj(l) = argmax
h={h0,...,hj−1,hj},hj=l

J(h), l ∈ Γ

gj+1
j (l) = argmax

i∈Γ

(
J(gj(i)) + φ(ξj+1, l) − πN(i, l)

)
,

ĥ = argmax
h=hN(l),l∈Γ

J(h).

ĥu = argmax
h=gu(l),l∈Γ

J(h)

gj(l)

s

χ(s) = min
{
t > s | gt

s(i) = gt
s(1), i ∈ Γ

}
.

χ(s)
s Δχ(s) = χ(s)−s

χ(s, k) = min{t > s | gt
s(i) = k, i ∈ Γ}, k ∈ Γ,

χ(s) = min
k∈Γ

χ(s, k).

i t
gt+1(i)



h g
J(h) > J(g)

i t J(gt(i)) >
J(gt(j)), j ∈ Γ, j �= i i
t J(gt(i)) ≥ J(gt(j)), j ∈ Γ

t
ĥt

α ∈ R i α
t

J(gt(i)) > J(gt(j)) − α, j ∈ Γ, j �= i.

i α t

J(gt(i)) ≥ J(gt(j)) − α, j ∈ Γ, j �= i.

α t Ot
α

Pk(·) ξ1, . . . ξN

Fk Ek

κ = mini�=j Eφji(ζj) > 0, ζj

Fj

φji(ζj) ≤ C < ∞, i, j ∈ Γ

Dφji(ζj) < σ2 < ∞, i, j ∈ Γ

φ(x, j) ξ1, . . . ξN

wki
0 = wki

0 (t0) = t0, w
ki
1 (t0) = min

{
t > t0 | max

t0<u≤t

∑u
j=t0+1 φki(ξj) > πN

}
wk

0 = wk
0(t0) = t0, wki

l (t0) = wki
l (t0) = wki

1 (wk
l−1(t0))

wk
l = wk

l (t0) = wk
l (t0) = maxi�=k wki

l (t0)

vk
l = vk

l (t0) = vk
l (t0) = wk

3l(t0)

E = {E(t1, t2) | t1 < t2} ,

E(t1, t2) =

{
min
i�=k

min
t1<l1≤l2≤t2

l2∑
j=l1

φki (ξj) > −πN

2

}
, t1 < t2



vk
E = vk

E(t0) = vk
E(t0, φ) = min{vk

1(t) | E(s, vk
1(s)) , t ≥ t0}

ṽk
E = ṽk

E(t0) = ṽk
E(t0, φ) = min{vk

l (t0)|E(vk
l−1, v

k
l ) }

vk
E(t0) ≤ ṽk

E(t0)
t0

χ(s) ≤ min
k∈Γ

vk
E(t0), t0 ≥ s.

EΔχ(t) ≤ 6(πN + C)(K − 1)(1 + θ−1)

C1κ
,

C1 = 1 − 48σ2(K − 1)2

πN

πN + C

πNκ
.

∃u 0 ≤ u ≤ t gt(k) =
{
ĥu

1 , . . . ĥ
u
u, k, . . . , k

}

{k, . . . , k}
u + 1 gt(k)

h′ = {gt
1(k), . . . , gt

u(k)}

h′′ =
{
ĥu

1 , . . . ĥ
u
u, k, . . . , k

}
gt(k)

J(gt(k)) = J(h′) − πN +

t∑
j=u+1

φ(ξj, k) < J(ĥu) − πN +

t∑
j=u+1

φ(ξj, k) = J(h′′).

k gt(k)

t
t

k t J(ĥt
t) = J(gt(k))

gt+1(k)

g̃t(k) =
{
gt+1

1 (k), ..., gt+1
t (k)

}
, g̃t+1(k) =

{
gt

1(k), ..., gt
t(k), k

}
.



gt+1(k) g̃t+1(k) gt+1(k) g̃t+1(k)

J(gt+1(k)) ≥ J(g̃t+1(k)) = J(gt(k)) + φ(ξt+1, k).

J(gt+1(k)) = J(g̃t(k)) − πN + φ(ξt+1, k).

gt+1(k) k
t

J(gt(k)) ≥ J(g̃t(k)).

0 ≥ J(g̃t(k)) − J(gt(k)) = J(gt+1(k)) − J(g̃t+1(k)) + πN ≥ πN .

i t

J
(
ĥt
)
− J
(
gt(i)
)

> πN

i t
gt(i) �= ĥt J(gt(i)) < J(ĥt)

gt+1(i) {gt
1(i), . . . , g

t
t(i), i}

J(gt+1(i)) = J(ĥt) − πN + φ(ξt+1, i) > J(gt(i)) + φ(ξt+1, i)

J(ĥt) − J(gt(i)) > πN .

gt+1(i)

g̃t+1(i) =
{

ĥt
1, ..., ĥ

t
t, i
}

.

gt+1(i)

J(g̃t+1(i))− J(gt+1(i)) = J(ĥt)− πN + φ(ξt+1, i)− J(gt(i)) − φ(ξt+1, i) > 0.

gt+1(i) t
i i t



t
πN

i, k ∈ Γ, i �= k, t > t0, t0 ≤ u < t, x ∈ R α, αu ∈ [0, πN ]

Ctu
ki (x, α) =

{∑t
j=u+1 φki(ξj) > α − πN + x, k ∈ Ou

α

}
,

Dtu
ki(x) =

{∑t
j=u+1 φki(ξj) > x

}
.

⋂
t0≤u<t

(
Ctu

ki (x, αu) ∪ Dtu
ki(x)
) ∩ Dtt0

ki (πN + x)

J
(
gt(k)
)− J

(
gt(i)
)

> x

gt(i) t0 t
u gt(i)

k α u − 1

t∑
j=u

φki (ξj) > x − πN + α.

gu(i)

J(gu(i)) ≤ J(gu−1(k)) − πN + α + φ(ξu, i)

u − 1 i k α
α ≥ 0

J(gu−1(k)) +

t∑
j=u

φ(ξj, k) − J(gu(i)) −
t∑

j=u+1

φ (ξj, i) > x.

J(gt(k)) ≥ J(gu−1(k)) +
∑t

j=u φ(ξj, k)

J
(
gt(k)
)− J (gu(i)) −

t∑
j=u+1

φ (ξj, i) > x.

t∑
j=u

φki (ξj) > x.



J(gu(k)) ≥ J(ĥu−1) − πN + φ(ξu, k), J(gu(i)) = J(ĥu−1) − πN + φ(ξu, i).

J (gu(k)) +

t∑
j=u+1

φ (ξj , k) − J(gu(i)) −
t∑

j=u+1

φ(ξj, i) > x

J(gt(k)) − J(gu(i)) −
t∑

j=u+1

φ(ξj, i) > x

gt(i) [t0, t]

t∑
j=t0+1

φki (ξj) > πN + x

J(gt(k)) ≥ J(gt0(i)) +
∑t

j=t0+1 φ(ξj, k) − πN

J(gt(k)) − J(gu(i)) −
t∑

j=u+1

φ(ξj, i) > x.

k [t0, w
k
1(t0)]

gwk
1 (t0)(i) k i

k t0 J(gt0(k)) −
J(gt0(i)) > 0 i �= k

wki
1 (t0)∑

j=t0+1

φki(ξj) > πN .

(t0, w
k
1(t0)]

g̃(i) =
{
gt0

1 (k), . . . gt0
t0 (k), k, . . . , k, i, . . . i

}
,

k i wk
1(t0)

ḡ(i) =
{
gt0

1 (i), . . . gt0
t0 (i), i, . . . i

}
.



J(g̃(i)) − J(ḡ(i)) = J(gt0(k)) − J(gt0(i)) +

wki
1 (t0)∑

j=t0+1

φki(ζj) − πN > 0.

gwk
1 (t0)(i) i

(t0, w
k
1(t0)]

gwk
1 (t0)(i)

k i
t0

χ(s, k) ≤ vk
E(t0), t0 ≥ s.

E(vk
l−1(t0), v

k
l (t0)) wl =

wk
l (t0). [w3l−2, w3l) k πN

2

⋂
i�=k

⋂
w3l−3<u≤t

Dtu
ki

(
−πN

2

)
∩ D

tw3l−3

ki

(πN

2

)

w3l−2 ≤ t < w3l k πN

2

Dtu
ki

(
−πN

2

)
=

{
t∑

j=u+1

φki(ξj) > −πN

2

}

E(vk
l−1, v

k
l ) =

{
min
i�=k

min
vk

l−1<l1≤l2≤vk
l

l2∑
j=l1

φki (ξj) > −πN

2

}

wki
l

t∑
j=w3l−3+1

φki (ξj) =

wki
3l−2∑

j=w3l−3+1

φki (ξj) +

t∑
j=wki

3l−2+1

φki (ξj) > πN − πN

2
=

πN

2
.

D
tw3l−3

ki

(
πN

2

)
k πN

2

[w3l−1, w3l) k

⋂
i�=k

⋂
w3l−3<u≤w3l−2

Dtu
ki (0) ∩

⋂
w3l−2<u≤t

Ctu
ki

(
0,−πN

2

)
∩ D

tw3l−3

ki (πN ) .



w3l−1 ≤ t < w3l

u ∈ [w3l−3, w3l−2) Dtu
ki (0)

t∑
j=w3l−2+1

φki (ξj) >
πN

2

w3l−2∑
j=u

φki (ξj) > −πN

2
.

u ∈ [w3l−2, w3l−1) Ctu
ki

(
0,−πN

2

)
E(vk

l−1, v
k
l ) k πN

2
[w3l−2, w3l−1)

D
tw3l−3

ki (πN )

w3l−2∑
j=w3l−3+1

φki (ξj) +

wki
3l−1∑

j=w3l−2+1

φki (ξj) +

t∑
j=wki

3l−1+1

φki (ξj) >
πN

2
+ πN − πN

2
=

= πN , t ∈ [w3l−1, w3l).

k [w3l−1, w3l)
gvl(i) w3l−1

χ(s, k) ≤ vk
E(t0).

Ej = E(vk
j−1, v

k
j )

ξj Fk

Ek ṽk
E ≤ Ek vk

1

Pk(E(0, vk
1))

E(ξ | A) =

∫
ξ(ω)P(dω | A)

ξ1, ...ξN ξN+1, . . .
Fk ṽk

E

Ek ṽk
E ≤

∞∑
l=1

Ek(v
k
l | ∩l−1

j=1Ej ∩ El)Pk

(∩l−1
j=1Ej ∩ El

)

=
∞∑
l=1

l∑
j=1

Ek(Δvk
j | ∩l−1

j=1Ej ∩ El)Pk

(∩l−1
j=1Ej ∩ El

)

= Ek(v
k
1 | E)Pk(E)

∞∑
l=0

l(1 − Pk(E)l + Ek(v
k
1 | E) =

Ek(v
k
1 | E)Pk(E)Pk(E)−1 + Ek(v

k
1 | E) =

Ek(v
k
1 )

Pk(E)



ξj

Fk

Ek wk
1(t0) − t0 ≤ (K − 1)(πN + C)

κ
.

ξ1, . . . ξN

Ewk
1(t0) − t0 = Ewk

1(0).

wk
1(0) = maxi�=k wki

1 (0) ≤∑i�=k wki
1 (0)

Ewk
1(0) ≥

∑
i�=k

Ewki.

Ewki

E
wki∑
j=1

φki (ξj) ≤ πN + C

κ
,

Ewk
1(0) ≤ (K − 1)(πN + C)

κ
.

ξ1, . . . ξN Δwj(t0)

Ek vk
1(t0) − t0 ≤ 3(K − 1)(πN + C)

κ
.

ξ1, . . . ξN Fk

P

(
min
i�=k

min
1≤l1≤l2≤vk

1

l2∑
j=l1

φki (ξj) > −πN

2

)
≥ 1 − 48σ2(K − 1)2

πN

πN + C

κπN

P

⎛
⎝min

i�=k
min

1≤l1≤l2≤vk
1

l2∑
j=l1

φki (ξj) ≤ −πN

2

⎞
⎠ ≤
∑
i�=k

P

⎛
⎝ min

1≤l1≤l2≤vk
1

l2∑
j=l1

φki (ξj) ≤ −πN

2

⎞
⎠



P

(
min

1≤l1≤l2≤vk
1

l2∑
j=l1

φki (ξj) ≤ −πN

2

)
≤

P

(
min

1≤l1≤l2≤vk
1

l2∑
j=l1

(
φki (ξj) − Eφki (ξj)

) ≤ −πN

2

)
≤

P

(
max

1≤l1≤l2≤vk
1

∣∣∣∣∣
l2∑

j=l1

(
φki (ξj) − Eφki (ξj)

)∣∣∣∣∣ ≥ πN

2

)
≤

P

(
max

1≤l1≤vk
1

∣∣∣∣∣
l1∑

j=1

(
φki (ξj) − Eφki (ξj)

)∣∣∣∣∣ ≥ πN

4

)

P

(
max

1≤l1≤vk
1

∣∣∣∣∣
l1∑

j=1

(
φki (ξj) − Eφki (ξj)

)∣∣∣∣∣ ≥ πN

4

)
≤ 16

π2
N

D

vk
1∑

j=1

φki (ξj) ≤

16σ2Evk
1

π2
N

≤ 48σ2(K − 1)(πN + C)

κπ2
N

P

(
min
i�=k

min
1≤l1≤l2≤vk

1

l2∑
j=l1

φki (ξj) > −πN

2

)
≥ 1 − 48σ2(K − 1)2(πN + C)

κπ2
N

.

t0 ≥ t

χ(t) ≤ min
k∈Γ

vk
E(t0),

EΔχ(t) ≤ 2(1 + θ̄−1) max
k∈Γ

Ek vk
E

v(s) = vk
E(s), k = h0

s

ρ(s) s v(s)
ks s ks

n n s

EΔχ(t) = EΔχ(t) 1ρ(t)=0 +EΔχ(t) 1ρ(t)=1 +EΔχ(t) 1ρ(t)>1 = a1 + a2 + a3



a2

EΔχ(t) 1ρ(t)=1 = E
(
χ(t) − kt

)
1ρ(t)=1 +E

(
kt − t

)
1ρ(t)=1 ≤

E max(χ(t) − kt, 0) 1ρ(t)=1 +E(kt − t) 1ρ(t)=1 = a21 + a22

a1 + a22 kt > t χ(t) ≤ v(t)

EΔχ(t) 1ρ(t)=0 +E(kt − t) 1ρ(t)=1 ≤ EΔχ(t) 1ρ(t)=0 +E(kt − t) 1ρ(t)≥1 ≤
E
(
Δχ(t) 1v(t)<kt +(kt − t) 1v(t)≥kt

) ≤ E min
(
Δv(t), kt − t

)

ξj (t, kt]

E min(Δv(t), kt − t) = Eh0
t
min(Δv(t), kt − t) ≤ Eh0

t
v(t) ≤ max

k∈Γ
Ek vk

E(0),

a21

Emax
(
χ(t) − kt, 0

)
1ρ(t)=1 ≤ E min

(
max(χ(t) − kt, 0), kt

2 − kt
)

≤ E min
(
max(v(kt) − kt, 0), kt

2 − kt
)

= Emin
(
Δv(kt), kt

2 − kt
)

E min(Δv(kt), kt
2 − kt) ≤ max

k∈Γ
Ek Δvk

E(0)

a3 E(Δχ(t) 1ρ(t)>1) ≤ (N + 1)P (Δv(kt) > θN) .

P
(
Δv(kt) > θ̄N

) ≤ E Δv(kt)

θ̄N

E(Δχ(t) 1ρ(t)>1) ≤ 2 maxk Ek v(0)

θ̄

χ(s) ≤ min
k∈Γ

vk
E(t0),

t0 ≥ s ξj Fk

Ek vk
E(t0) ≤ Ek ṽk

E(t0) ≤ Ek vk
1(0)

Pk(E(0, vk
1))

.

Pk(E(0, vk
1)) ≥ 1 − 48σ2(K − 1)2

πN

πN + C

πNκ
.



Ek vk
E(t0) ≤ Ek vk

1(0)

C1

.

Ek vk
1 ≤ 3(K − 1)(πN + C)

κ
.

Ek vk
E(t0) ≤

3(K − 1)(πN + C)

C1κ
.

E χ(s) ≤ 2(1 + θ̄−1) max
k∈Γ

Ek vk
E ≤ 6(1 + θ̄−1)(K − 1)(πN + C)

C1κ
.

E φki(ζj) = ∞

φ(ζj, j)−φ(ζj, i)

E φji(ζj) > 0, i �= j, ζj

Fj E φji(ζj) = +∞
E φji(ζj) 1φji(ζj)<0 > −∞, i, j ∈ Γ

D φji(ζj) 1φji(ζj)<0 < σ2 < ∞, i, j ∈ Γ

φki
y (x) =

{
φki(x), y < x,

y, y ≥ x.

κ > 0, C ∈ R

EΔχ(t) ≤ 6(πN + C)(K − 1)(1 + θ̄−1)

C2κ
,

C2 = 1 − 48(σ2 + C2)(K − 1)2

πN

πN + C

πNκ
.

E χ(s) − s ≤ 2(1 + θ̄−1)
Ek vk

1 (0)

Pk(E(0, vk
1))

.



Ek vk
1(0) = 3 Ek wk

1(0).

Ek wk
1(0) ≤∑i�=k Ek wki

1 (0).∑t
j=1 φki

y (ξj) ≤
∑t

j=1 φki(ξj), wki
1 (0, φ) ≤ wki

1 (0, φy).

E φki
y (ζj) → E φki(ζj), y → ∞,

∃κ > 0 ∃C ∈ R : E φki
C (ζj) > κ.

Ek wki
1 (0, φC) ≤ πN + C

κ
.

Ek vk
1(0, φC) = 3 Ek wk

1(0, φC) ≤ 3(K − 1)(πN + C)

κ
.

Pk(E(0, vk
1))

Pk(E(0, vk
1)) ≥ Pk

(
min
i�=k

min
0<l1≤l2≤vk

1

l2∑
j=l1

φki
C (ξj) > −πN

2

)

D φki
C (ζk) ≤ D φki(ζk)φki(ζk)<0 + E

(
φki

C (ζk)φki(ζk)≥0

)2 ≤ σ2 + C2

Pk(E(0, vk
1)) ≤ C2.

E Δχ(s) ≤ 6(πN + C)(K − 1)(1 + θ̄−1)

C2κ




